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E–115 

M. Com. (Third Semester)  

EXAMINATION, Dec.-Jan., 2020-21 

Paper Fifth 

ACCOUNTING FOR MANAGERIAL DECISION 

Time : Three Hours ]  [ Maximum Marks : 80 

    [Minimum Pass Marks : 16 

uksV % funsZ’kkuqlkj lHkh [k.Mksa ds mŸkj nhft,A 

 Attempt all Sections as directed. 

 [k.M&v izR;sd 1  

(Section—A) 

oLrqfu”B@cgqfodYih; iz’u 

(Objective/Multiple Choice Questions) 

uksV % lHkh iz’uksa ds mŸkj nhft,A 

 Attempt all questions. 

lgh mŸkj dk p;u dhft, % 

Choose the correct answer : 

1- le&foPNsn fcUnq gS % 

¼v½   
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¼c½ 1 0 0   

¼l½   

¼n½ buesa ls dksbZ ugha 

B. E. P is : 

(a) 
F ix e d C o s t

P /V R a tio
  

(b) 
F ix ed C o s t

1 0 0
P /V R a tio

  

(c)  
P /V R a tio

F ix e d C o s t
  

(d) None of these 

2- va’knku gS % 

¼v½ foØ; – LFkk;h ykxr 

¼c½ foØ; – dqy ykxr 

¼l½ foØ; – ifjorZu’khy ykxr 

¼n½ buesa ls dksbZ ugha 

Contribution is : 

(a) Sales – Fixed Cost 

(b) Sales – Total Cost 

(c) Sales – Variable Cost 

(d) None of these 
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3- ,d vof/k esa foØ; 30000 bdkb;k¡ ¼` 75 izfr bdkbZ½] ifjorZu’khy 

ykxr ` 9]00]000 rFkk LFkk;h ykxr ` 3]00]000 gSA ykHk&ek=k 

vuqikr gksxk % 

¼v½ 1

3
3 3 %   

¼c½ 6 0 %   

¼l½ 50% 

¼n½ 67% 

In a period sales is 30000 units (` 75 per unit), variable cost  

` 9,00,000 and fixed cost is ` 3,00,000. P/V Ratio will be : 

(a) 1

3
3 3 %  

(b) 60% 

(c) 50% 

(d) 67% 

4- fuEufyf[kr esa fdlesa ifjorZu gksus ls mRiknu ykxr vifjofrZr 

jgsxh \ 

¼v½ etnwjh 

¼c½ izR;{k O;; 

¼l½ fcØh O;; 

¼n½ fuekZ.k O;; 

Cost of production will not change with the change is : 

(a) Wages 

(b) Direct Expenses 

(c) Selling Expenses 

(d) Manufacturing Expenses 
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5- fuEufyf[kr esa ls dkSu xSj&pkyw lEifŸk gS \ 

¼v½ [;kfr 

¼c½ izkI; fcy 

¼l½ iwoZnŸk O;; 

¼n½ nsunkj 

Which of the following is not-current assets ? 

(a) Goodwill 

(b) Bills receivable 

(c) Prepaid expenses 

(d) Debtors 

6- vk;dj dh okilh jksdM+ dk 
-----------------

 gSA 

¼v½ lzksr 

¼c½ iz;ksx 

¼l½ buesa ls dksbZ ugha 

Income Tax refund is : 

(a) Source of Cash 

(b) Application of Cash 

(c) None of these 

7- lapkyu vuqikr gS % 

¼v½ ykHknk;drk vuqikr 

¼c½ fØ;k’khyrk vuqikr 

¼l½ ‘kks/ku {kerk vuqikr 

¼n½ buesa ls dksbZ ugha 
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Operating ratio is : 

(a) Profitability Ratio 

(b) Activity ratio 

(c) Solvency ratio 

(d) None of these 

8- vkn’kZre vEy ijh{k.k vuqikr gksrk gS % 

¼v½ 1 % 2 

¼c½ 2 % 1 

¼l½ 3 % 1 

¼n½ 1 % 1 

Ideal Aid Test Ratio is : 

(a) 1 : 2 

(b) 2 : 1 

(c) 3 : 1 

(d) 1 : 1 

9- izfrosnu dk izFke dk;Z gS % 

¼v½ ykHknk;d fØ;k’khyu 

¼c½ izca/kudh; {kerk dk ekiu 

¼l½ lwpuk iznku djuk 

¼n½ leUo;u esa lgk;d 

The first function of a Report is : 

(a) Profitable Operation 

(b) Measuring Executive Performance 

(c) Supplying Information 

(d) Helpful in Co-ordination 
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10- fØ;kRed ykxr fu/kkZj.k ds ykHk gSa % 

¼v½ ykxr fu;a=.k 

¼c½ mRiknu lsok ykxr dk fu/kkZj.k 

¼l½ fu”iknu esa lq/kkj 

¼n½ ;s lHkh 

Advantages of Activity Based Costing  : 

(a) Cost control 

(b) Determination of Production Service Costs 

(c) Improvements in performance 

(d) All of these 

fuEufyf[kr dFku lR; gSa vFkok vlR;] crkb, % 

State whether the following statements are True or False : 

11- yEcor fo’ys”k.k dks fLFkj fo’ys”k.k Hkh dgrs gSaA 

Vertical analysis is also known as static analysis. 

12- vf/kd etnwjh Hkqxrku ls mRiknu ykxr vizHkkfor jgrh gSA 

Cost of production is unaffected by more payment of wages. 

13- ldy lEifŸk;ksa dh jkf’k ‘kq) fofu;ksftr iw¡th ds cjkcj gkssrh gSA 

The amount of Gross Assets is equal to Net Capital 

Employed. 

14- ykHknk;drk vuqikr izfr’kr esa ugha Kkr fd;k tkrkA 

Profitability Ratio is not calculated in percentage. 



 [ 7 ] E–115 

 P. T. O. 

15- py lEifŸk;ksa esa of̀) ls dk;Z’khy iw¡th esa of̀) gksrh gSA 

Increase in Current Assets means increase in working 

capital. 

16- ctV] izca/kdh; lwpuk iz.kkyh dh ,d rduhd gSA 

Budget is a system of managerial information system. 

17- va’knku dks ldy lhekUr Hkh dgrs gSaA 

Contribution is also known as Gross Margin. 

18- fLFkj ykxrksa dks ?kVkdj ykHk&ek=k vuqikr esa lq/kkj yk;k tk ldrk 

gSA 

P/V Ratio can be improved by reducing the Fixed Cost. 

19- ABC dh vo/kkj.kk] ewY; Ükà[kyk fo’ys”k.k ds vUrxZr gSA 

Concept of ABC is a part of value chain analysis. 

20- vYidkyhu _.k dh izkfIr jksdM+ dk vUrokZg gSA 

Raising of short-term loans results in inflow of cash. 

 [k.M&c izR;sd 2 

(Section—B) 

vfr y?kq mŸkjh; iz’u 

(Very Short Answer Type Questions) 

uksV % lHkh iz’uksa ds mŸkj 2&3 okD;ksa esa nhft,A 

 Attempt all questions in 2-3 sentences. 

1- ^va’knku* dks le>kb,A 

Explain ‘Contribution’. 
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2- mnxz fo’ys”k.k D;k gS \ 

What is vertical analysis ? 

3- LokfeRo vuqikr D;k gS \ 

What is proprietary ratio ? 

4- ^dks”k* ‘kCn dk D;k vk’k; gS \ 

What is the meaning of the term ‘Fund’ ? 

5- fØ;kRed ykxr fu/kkZj.k D;k gS \ 

What is Activity Based Costing ? 

6- ewY; ds izdkj D;k gSa \ 

What are the Kinds of Value ? 

7- izcU/k lwpuk iz.kkyh dks ifjHkkf”kr dhft,A 

Define Management Information System. 

8- Lrjh; izfrosnu dk D;k vFkZ gS \ 

What is the meaning of Level Report ? 

 [k.M&l izR;sd 3 

(Section—C) 

y?kq mŸkjh; iz’u 

(Short Answer Type Questions) 

uksV % lHkh iz’uksa ds mŸkj yxHkx 75 ‘kCnksa esa nhft,A 

 Attempt all questions in about 75 words. 

1- fo’ys”k.k o fuoZpu esa vUrj Li”V dhft,A 

Differentiate between Analysis and Interpretation. 

2- vkidks ` 2]90]000 ykHk vftZr djus ds fy, fcØh Kkr djuh gS] 

;fn % 

LFkk;h ykxr ` 60]000 gS rFkk 

ykHk&ek=k vuqikr 25% gSA 



 [ 9 ] E–115 

 P. T. O. 

You are required to calculate sales to earn a profit of  

` 2,90,000 if  

Fixed cost is ` 60,000 and 

P/V Ratio is 25%. 

3- jksdM+ izokg fooj.k dk ykHk D;k gS \ 

What is the benefit of Cash Flow Statement ? 

4- cukvksa ;k [kjhnks fu.kZ; dks le>kb,A 

Explain Make or Buy decision. 

5- y{; ykxr fu/kkZj.k dh vo/kkj.kk dks Li”V dhft,A 

Explain the concept of Target Costing. 

6- izcU/k vads{k.k ds mís’; ,oa {ks=ksa dh O;k[;k dhft,A 

Discuss the objective and scope of Management Audit. 

7- fof’k”V izfrosnu ls D;kk vk’k; gS \ 

What do you mean by Special Report ? 

8- e’khu [kkrk ds izkjfEHkd ,oa vafre ‘ks”k Øe’k% ` 60]000 vkSj  

` 85]000 FksA o”kZ 2019 esa ` 8]500 kl ds fy, dkVk x;kA ,d 

iqjkuh e’khu ¼ kflr ewY; ` 3]500½] ` 5]000 esa csp nh xbZA o”kZ 

2019 ds nkSjku e’khu ds Ø; ds fy, fdruk dks”k yxk;k x;k \ 

The opening and closing balances in Machinery Account 

were 60,000 and ` 85,000 respectively. ` 8,500 depreciation 

has been charged in the year 2019. One old machine (W. D. 

V. ` 3,500) has been sold out for ` 5,000. How much fund 

has been applied during the year 2019 for purchase of 

machinery ? 
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 [k.M&n izR;sd 5 

(Section—D) 

nh?kZ mŸkjh; iz’u 

(Long Answer Type Questions) 

uksV % lHkh iz’uksa ds mŸkj nhft,A 

 Attempt all questions. 

1- dks”k izokg fooj.k D;k gS \ ;g fdl izdkj rS;kj fd;k tkrk gS \ 

What is Fund Flow Statement ? How is it prepared ? 

vFkok 

(Or) 

,d dEiuh ds fuEufyf[kr vkfFkZd fpës ls Kkr dhft, % 

(i) ‘kks/ku {kerk vuqikr 

(ii) rjyrk vuqikr 

(iii) LFkk;h lEifŸk vuqikr 

(iv) iw¡th feyku vuqikr 

(v) iw.kZ rjy vuqikr 

dEiuh fy- 

¼fpëk 31&12&2012 dh fLFkfr esa½ 

fooj.k 
 jkf’k 

(`) 

I. lerk ,oa nkf;Ro %   

  1- va’k/kkjh dks”k %   

    va’k iw¡th  1,00,000 

  2- vpy nkf;Ro %   

    _.ki=  75,000 

 3-  py nkf;Ro  25,000 

                 dqy ¼1 $ 2 $ 3½  2,00,000 
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II. lEifŸk;k¡ %   

   1- vpy lEifŸk %    

     LFkk;h lEifŸk  80,000 

   2- py lEifŸk;k¡ %     

     izkfIr;k¡ %   

     nsunkj                      70]000   

     izkI; fcy ¼foi=½             10]000    80,000 

     jksdM+ ,oa jksdM+ rqY; %   

     udn 10,000  

     O;kikfjd izfrHkwfr;k¡ 10,000 20,000 

     LdU/k  20,000 

                       dqy ¼1 $ 2½  2,00,000 

From the following Balance Sheet of a company you are 

required to calculate : 

(i) Solvency Ratio 

(ii) Liquidity Ratio 

(iii) Fixed Assets Ratio 

(iv) Capital Gearing Ratio 

(v) Absolute Liquid Ratio 
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Company Ltd. 

(Balance Sheet as on 31-12-2012) 

Particulars 
 Amount 

(`) 

I. Equity & Liabilities :   

   1. Shareholder’s Fund :   

 Share Capital  1,00,000 

  2. Non-current Liabilities :    

Debentures  75,000 

  3. Current Liabilities   25,000 

                              Total (1 + 2 + 3)  2,00,000 

   

II. Assets :   

   1. Non-Current Assets :   

Fixed Assets   80,000 

   2. Current Assets :   

Trade Receivables :   

Debtors                                 70,000   

       Bills Receivable                   10,000  80,000 

Cash and Cash equivalents :   

Cash 10,000  

Marketable Securities 10,000 20,000 

   Stock  20,000 

                                  Total (1 + 2)   2,00,000 



 [ 13 ] E–115 

 P. T. O. 

2- ,d dkj[kkus ds lEcU/k esa fuEufyf[kr lwpuk,¡ izkIr gSa % 

LFkk;h ykxr    ` 80]000 

foØ; ewY; ¼izfr bdkbZ½ ` 24 

ifjorZu’khy ykxr ¼izfr bdkbZ½ ` 20 

fuEufyf[kr ds le&foPNsn fcUnq ij iM+us okys izHkkoksa dks Kkr dhft, 

% 

(i) LFkk;h ykxr esa 20% dh of̀) 

(ii) vLFkk;h ykxr esa 10% dh of̀) 

(iii) LFkk;h ykxr esa 10% dh of̀) rFkk ifjorZu’khy ykxr esa  

5% dh deh 

The following informations are available regarding a  

factory : 

Fixed Cost   ` 80,000 

Selling Price (p. u.) ` 24 

Variable Cost (p. u.) ` 20 

Find out the impact of the following on B. E. P. 

(i) 20% increase in fixed costs 

(ii) 10% increase in variable cost 

(iii) 10% increase in fixed cost and 5% decrease in variable 

cost 

vFkok 

(Or) 

vuqdwyre foØ; feJ.k dk fu/kkZj.k dSls fd;k tkrk gS \ le>kb,A 

How is Optimum Sales Mix determined ? Explain. 
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3- fuEufyf[kr lwpukvksa ls lapkyu ls dks”k dh x.kuk dhft, % 

(i)  o”kZ dk ‘kq) ykHk ` 2]50]000 

(ii) ` 40]000 lkekU; lap; esa gLrkarfjr fd;s x;sA 

(iii) ` 50]000 dh ykxr dh iqjkuh e’khu ` 20]000 esa csph xbZA 

(iv) iqLrd esa [;kfr ` 1]00]000 fn[kkbZ xbZ gS ftlesa ls o”kZ esa 

10%  vifyf[kr dj fn;k x;k gSA 

(v) LFkk;h lEifŸk;k¡ ftudh ykxr ` 2]00]000 Fkh] 10% dh nj 

ls kl pktZ fd;k x;kA 

(vi) iwokZf/kdkj va’k dk ‘kks/ku 5% izhfe;e ij fd;k x;kA izhfe;e 

dh jde ` 10]000 FkhA 

Calculate funds from operation from the following details : 

(i) Net Profit for the year ` 2,50,000 

(ii) ` 40]000 has been transferred to General Reserve. 

(iii) Old machinery costing ` 50,000 was sold for  

` 20,000. 

(iv) Goodwill appears in the books at ` 1,00,000 out of 

which 10% has been written off during the year. 

(v) Depreciation @ 10% has been charged on fixed assets 

costing ` 2,00,000. 

(vi) Preference shares have been redeemed at a premium of 

5%. The amount of premium was ` 10,000. 

vFkok 

(Or) 

jksdM+ izokg fooj.k dks”k izokg fooj.k ls fdl izdkj fHkUUk gS \ 

le>kb,A 

How does Cash Flow Statement differ from Fund Flow 

Statement ? Explain. 
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4- fØ;kRed ykxr fu/kkZj.k ds pj.kksa ,oa ykHkksa dks crkb,A 

Discuss the steps and advantages of Activity Based Costing. 

vFkok 

(Or) 

izcU/k ds fofHkUu Lrjksa dks dkSu&dkSu ls izfrosnu izLrqr fd, tkrs  

gSa \ O;k[;k dhft,A 

Which reports are submitted to various levels of 

Management ? Discuss. 
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